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I/ Listening comprehension: (8 marks) 20

Answer the questions:
1/ Tick (V') the right answer. (1 mark)
The two speakers are:

> two men.
> two women.
> aman and a woman.

2/ Say true or false. (3 marks)

» The first speaker cannot stop smoking.

» The first speaker did not try to stop smoking.

» The second speaker is encouraging the first speaker to stop smoking. ...............

3/ Listen and pick out a word (noun) that means a person who smokes. (1 mark)

A PErson WHO SIMOKES 1S @ ....ueuiinitittet et et et et et et e e e ae e

4/ Function: (1 mark)

Listen and identify the function of the underlined utterance.

“I can’t quit smoking.”

5/ Spelling: (1 mark)

Listen and complete the two missing words.

6/ Pronunciation: (1 mark)

Listen and pick out two words having the sound / Z /

1 Z 1

:



1/ Language : (12 marks)

1 -Circle the right alternatives: (4 marks)

Cigarette smokers who inhale the smoke or breathe it in can (develop —lead —damage)

lung cancer more than non-smokers. Other smokers (which- who —when) only take the smoke

into their mouths (should- may —have to) suffer from throat and tongue cancer.

The effects of nicotine (is — am — are) perhaps more ( serious —nasty —noisy) because

they cause a great (harm — harms — harmful) that lasts (to —from —for) a long period. So , the

government should ( forbid- encourage —realize) smoking in public places.

2- Fill in the blanks with words from the list. Be careful! There are 2 extra words. (4 marks)

As a result - unhealthy — suffers — When — the — farmers — pollution — like — and — release

Farmers spray pesticides on the grass. So, the land........................ ® from
pollution. Animals..................... ® cows and sheep eat ..................... ® contaminated
GLASS. vttt @, their meat and milk become .....................ooiiinl. ®.
That’s why we should encourage........................... ® to produce organic food. Added to
that, ships spill oil........................ @ toxic substances into the sea. So, the sea life gets
poisoned

........................ people eat from this unhealthy food, they will have harmful
health problems.

3- Read the conversation and identify the communicative functions of the underlined

utterances. (1 mark)

Passenger 1: Excuse me, would you like to put out your cigarette, please? @

Passenger 2 : [ am sorry , I beg your pardon

Passenger 1: It’s ok , you know, tebacco may cause cancer and heart diseases. @

Passenger2 : Yeah ...I know, that’s why I’m thinking of giving it up.

-



4- Match the sentence parts to get a coherent passage. Be careful! There’s an extra part in

column B. (3 marks)

| Column A

Column B

1- African elephants are hunted.....

2- Each year, millions of elephants........

3- They are always running from man; the
hunter

4- To save these creatures. ..

5- However, some countries like Zambia and
South Africa...

6- They ought to know that these animals

arc...

a- more than 100 countries prohibited the
trade of ivory.

b- who kills them without regret.

c- refused to punish the offenders.

d- because of their expensive ivory.

e- disappear forever.

f- many animals are endangered.

g- important to achieve the ecological

balance.
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